27— AON 6T —220 ST — AON 2T -22Q
81 -10 17 - AON T1-10 T — AON

0z —dag LT -120 €T —das 0T - 120

91 - 8ny 6T — das 6 — 8ny 71 —das

6T-Inf| ST - 8ny ZT-Inf g - 8ny

Tz-unr 8T — Inf vT —unr TT—(nr

LT —Aepy 0z —unr [ 0T - Aey €T —unf

i 6T — 4dy 9T —Aey 21 —ddy 6 - Aey
¢ —1eN 8T —4dy ST —JeN 1T - dy

9T — go 12— e 6 - 924 3 T - e

61 — uer ST -Qqo4 1 - uey 8- 024

¢z -22q 8T — uer ) ST -23Q 11 - uer

31eQq Join) a1eq Sunasn aleq yoiny 91k Sunasp

‘wre 0g:6 1e yjuow Asana o Aepsiny] pig aya s3e9iAl "wrd 00:Z 1B Yyruow A1aAa o Aepsiny) .,z 3Y1 SI9SA

NOISSIWINOD DNINOZ JI4O1SIH "LLVHD F3LLIAIWOD 3d0ID aIsva-INYO4

T - AON T -22d L - NON - 23Q 9Z - AON €2 -923Q
0T - PO €T - AON I €-10 9 - AON 62 - PO SZ - AON
z1-das | 6-10 g - das Z-10 v - das 87 - 10
ST - 8ny TT - das 8 - 8ny - das LT - 8ny € - dos

I TS v1 - any S-Inr L-3ny €C-Inr 9¢ - 8ny
€T - unf oT - Inf 9-unf €-Inr F Sz -unf zz-Ing
6 - Aey ¢T-ung C-Aeny g -unf T¢ - Aen v -unr
1T - 1dy 8 - Aepy ¥ - Jdy T1-Aeny €7 - idy 0T - Aeyy
vT - e 0T - 1dy B L-1eN € - Jdy 9Z - e\ 7T - 1dy

&I -g94 €T - leN 8 - Go4 9- e LT - 92 Sz - Jey
TT - uer T - 924 v - uef L - 9o €7 - uer 9¢ - 924
¥T — 03¢ 0T - uer | | o A L-23Q € — uer | 6T —23@ TT - uer

aleq Join) 21eq Sunaa ?1eq Jon) a1eq Sunasy a1eq Hoin) 91eq Sunasp

‘wd 00:€ 1e yiuow AJana Jo Aepsaupa puz a2y s399I ‘wre 00:0T 1& yiuow Aiana jo Aepsaupapn ;T 94l S193Al ‘w-d g0t 38 Yyuow A1ana jo Aepuopy st 3Y3 s18ay

$1V3iddV NOILINYLISNOD 40 ayvosg $1v3ddV ONINOZ 40 Qivod S1V3iddV NSIS 40 givod

dVANITVI DNILITIN Q¥Vv09 t20c



